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public class Taskl {
public static void main(String[] args) {
float[] score=new float[100];
Scanner input=new Scanner (System.in) ;
float sum=0; // RINAN
int i;
for(i=0;i<score.length;i++) {
System.out.print ("IHHI AL "+ (i+1) + " WA kG
score[i]=input.nextFloat();
if(score[i]==101) {
break;
}
sum+=score[i];
}
float average=sum/i;
System.out.println("—ﬂzﬂ‘]ﬁ}ﬂﬂ:
int count=0;
for(int j=0;3<i;3++) {
if (score[j]>average) {
System.out.println ("H"+ (j+1) +
count++;

"+average) ;

e R RPN

+ "2 B 2R A RS

"+scorel[jl):

}
}
System.out.println ("E&5im T FEH A "+count+" A ") ;
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public class Task2 {
public static void main(String[] args) {
int[] answers={3,1,2,5,4,2,2,3,4,5,1,2,3,4,2,1,3,2,
4,2};
int[] frequency=new int[6];
for (int i=0; 1i<20; i++) {
frequencyl[answers[i]]++;
}
System.out.println ("ZME\t FAEH") ;
for (int i=1; i<6; i++) {
System.out.println(i+"\t"+frequency[i]);
}
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public class Task3 {
public static final int ROW=6; /)5 BATEL
public static void main(String[] args) {
int a[][]l=new int [ROW] [];
for (int i=0; i<ROW; i++) { LI XN K % &
alil=new int[i+1];

}

for (int i=0; i<ROW; i++) { / /TG FTEL
for (int j=0; j<=al[i].length-1; j++) { //TEAT R Al AR ER B 5L
i1 (3==0 || i==3))
alil[jl1=1; /TR EA 1
else

//ITCRMERHIE LT CREGE LATRZAH
alilljl=ali-11[j-11+ali-11[31;
}
)

for (int i=0; i<ROW; i++) { / IEIATHL
for (int j=0; j<=al[i].length-1; j++)
/AT BE A A6 24 5 5L
System.out.print(a[i] [J1+" "), / /i
System.out.println(); / /AT
}
}
}
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